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run_13049049 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Sat Feb 18 11:57:19 2012
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run_13049049 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 11:53:45 2012
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run_13049049 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Sat Feb 18 11:56:45 2012
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run_13049049 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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Sat Feb 18 11:53:47 2012
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run_13049049 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Sat Feb 18 11:56:45 2012
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run_13049049 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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run_13049049 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Sat Feb 18 11:53:54 2012
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run_13049049 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 11:57:22 2012
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run_13049049 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 11:54:04 2012
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run_13049049 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Sat Feb 18 11:57:23 2012
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run_13049049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Sat Feb 18 11:57:24 2012
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run_13049049 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 11:56:49 2012
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run_13049049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB

Sat Feb 18 11:57:24 2012
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run_13049049 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13049049 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 11:56:50 2012
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run_13049049 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Sat Feb 18 11:57:25 2012
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run_13049049 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Sat Feb 18 11:54:33 2012
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run_13049049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 18 11:56:51 2012
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run_13049049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13049049 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Sat Feb 18 11:54:43 2012
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run_13049049 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13049049 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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